
1.

2.

3.

4

5.

6.

7.

(2T)
a. zt
b. 34IH

d. qr

(A) a-I, b-III, c-II, d-IV

(B) a-II, b-lII,c-I, d-IV

(C)a-II, b-IV, c-I, d-II
(D) a-IV, b-lI, c-I, d-III
(E) 4gdRA UN

(A) GfurRU

(c)
(E) 44Ra yA

(A) 3rfat
(C) I4R
(E) qRa VA

(A) Ra
(B) feft
(C) HT eTe

(D)
(E) 3qtRd IN

H

(A)IGRTH

(E) 4gRa UA

fag fe hf fleR T 2024 hi

24) fya af?
(A) Hforge

(C) fde
(E) 3441fRd 9A

(A) 6

(C) 8

(fautrete Na4)

II. 4:
III. 3TRY

IV. RA

(B) &&
(D) 3qTa

(B)

(D) yd

(B) afMolg
(D) 3i9 yeT

(B) AGRH

(D) a

(B) 7

(B]

(D) 4

[AJ

[AJ

[C]

(B]

8.

9.

10.

H ZP=25°, ZC=25°, ZQ = ZB=90° yd PR = CA t,

(A) APQR

(C) APQR

(E) qrfta 9N

q cos ec =

(4) Vr

AACB

ACAB

(C) 1.5345
(E) 34RA VA

(E) qafka 9N

(A) qf
() aftT
(E) 3qHfRa AN

(A) Asd
(C) qic

(E) 371fRA 9N

(C) tat ta

(B) APOR

(D) APQR

(A) lgD
(C) IgM
(E) 3qtfRA HA

W3 cot +1
tan + /3

(E) 341f AN

yf a = 0.1069, aG V4a +1-4a+ 3a hT HH:
(A)2.1069

(B) Vr +1*

(D) Vr

(B) 0.4655
(D) 1.1069

(B) aT<
(D) uft

(B) TUf
(D) afea

ACBA

ABAC

(B) H461
-
fd

(C) ardT gt5 -nf (D) -Ì
- Ht-TR

15. fhA H faf qt gffp fhur?
(B) qŠ VIAR

(D) ss R

(B) IgG
(D)IgA

aRraR:

[B]

[D]

[A]

(B]

(C]

(D]

[AJ

[D]
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17. qet-I qt -I gAfta fay:

18.

21.

(rqufar tr)
a. trI

22.

b. -

d. 1gatutd-ifre

(C) fahca

a t FHRUT 19 HrE, 2024

(E)

(A) a-II, b-III, c-I, d-IV (B) a-IV, b-I, c-II, d-III
(C) a-I, b-II, c-III, d-IV (D) a-III, b-Il, c-IV, d-I

(E) 34gika NA

19. - 1 fATA qt-II
tRauA

a. t
b. At
c. AeetsH
d. yyy

(A) a-ii, b-i, c-iv, d-iii

(C) a-i, b-ii, c-ii, d-iv
(E) 3fA HA

(A) ge
(C) Tit
(E) 4qdfta HA

(A) Grff

qeft -II

(tT
I.yfaiga (caf1)

(E) 31qRa UA

(B)

(D) ers

ii. arT
iii. HRI

Y AifY Y-I (1)
qet-II (fa toiftes
2024 s ht

fRf)

v. 45T

or)

(B) HT¬ fAE

[D]

(B) a-i, b-iv, c-ii, d-i

(D) a-iv, b-ii, c-i, d-i

(D)aifd GHR

(B) RA

(D)fauaTH

[A]

[B]

[B]

Choose the most appropriate reported
form of the sentence given:
He said tous, "Don't walk on ice; it isn't
safe."

(A) He warned us not to walk on ice as it

wasn't safe.
(B) He ordered us not to walked on ice as it

weren't safe.
(C) He told us to avoid walking on ice as it

isn't safe.
(D) He said not to walk on ice as its not safe.
(E) Question nöt attempted [AJ

23. Choose the most appropriate option to
fillin the blanks:

her
was a child.
(A) knew, x, since

a long time,

(B) have known, for, since
(C)was knowing, since, since
(D)know, since, for

a she

(E) Question not attempted (B]

Read the passage and the
questions that follow by choosing the
appropriate answer: (Q. 24 to 28)

answer

Once we have settled on a perspective,
we close off with one line of thought.
Certain kinds of ideas occur to us, but only
those inds and no others. What if the
crippled man who invented the motorized
cart had defined his problem as, "How to
OCcupy my time while lying in bed?" rather
than "How to get out of bed and move

around the house?"
Leonardo Da Vinci believed that to

gain knowledge about the form of
problems, you begin by approaching the
problem on its own terms. He felt the first
way he looked at a problem was too biased
towards his usual way of seeing things. He
would restructure his problem by looking at
it from one perspective and move to

another perspective and still another. With

each move, his understanding would
deepen and he would begin to understand
theressence of the problem. Da Vinci

discovered that genius often comes from
finding a new perspective that no one else
has taken. 9

Albert Einstein was once asked what the
difference was between him and the
average person. He said that if you asked
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24.

25.

the average person to find a needle in the
haystack, the person would stop when he or

she found a needle. He, on the other hand,
would tear through the entire haystack
looking for all the possible needles. With

creative thinking, one generates as many

alternative approacheS as one can.

Most of us have been educated to think
exclusively which means we think in deficit
by focusing our attention on specific
information and excluding all else. In these
instances, exõlisive thinking leads us to
neglect potentially important pieces of the
puzzle. Exclusive thinking doesn't merely
inhibit irrelevant facts and perceptions. It
can also smother the imagination.

Creative thinking is inclusive thinking.
You consider the least obvious as well as the
most likely approaches, and you look for
different ways to look at the problem. It is

the willingness to explore all approaches
that is important, even after one has found

apromising one.
Identify statements which are true with
respect tothe passage:

Our settled perspective towards a

problem makes us focus on one line of
thought only.
b. Leófiardo Da Vinci always solved a

problem in the first attempt.
C. Albert Einstein would look for as many

alternatives as he could to solve a problem.
d. Exclusive thinking enhances creativity and
imagination.
Choose the most appropriate answer from
the options given below:
(A) band conly
(C) cand d oply

(B)a and c only

(D)a and b only
(E) Question not attempted [B]

Which of the following statements are
not true with respect to the passage?
a. With creative thinking, one generates as
many alternative approaches as one can.

b. Exclusive thinking leads us to the
important pieces of the puzzle.
C. Inclusive thinking makes one look for

different ways to look at the problem.

d. Exclusive thinking makes us broaden our
attention and look for potential alternatives.
e. Creativity and inclusive approach go hand
in hand.
Choose the most appropriate answer from
the options given below:
(A) band d only (B) Cand e only
(C) danda only (D) aand e only
(E) Question not attempted [A]

26. The features that define creative thinking
are:
a. Multidimensional approach
b. Willingness to explore
c. Biased approach
d. Not easily satisfied
Choose the most appropriate answer from
the options given below:
(A)b, c and d only (B) a, b and d only

(D) a, b and c only
(E)Question not attempted
(C) a, cand donly

[A]

27. According to the passage, the most
important thing with respect to solving a

problem is:
(A)To change our education system
(B) The willingness to explore all alternatives
(C) To be focused with one line of thought
(D)Learn to look for facts
(E)Question not attempted

28. Choose the Antonym of the word
sURPLUS from the options given:
(A) Inhibit
(C)Deficit
(E) Question not attempted

(A) HTS

(C) eterara
(E) 3gRa 9A

fa

(B) Biased
(D)Smother

(E) 34qdRa uA

(B) 31st

(B]

(D)aMg

[C]

[AJ

[D]
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(A) 3RTaGft a

33.

(B) ufgrf HöRr zt eta

(E) 3441fRd HA

32. fAfeafaa i YRA faher s/h, afa

(C) reT
(D) BHTT YRI

(E) 34tRd HN

(A) Shift+P
(C) Alt+Ctrl + P

(E) 34rRa VA

GKLP: QUVZ :: AEFJ :?
(A) KLPT

(C) MOTR
(E) 34grka HA

(A)

(C)

(E) 3gdRA UA

(A)

(C) 3T4

(D) ef acs

(E) 3Rd TN

(B) Ctrl+P
(D) Alt +p

(B) MOPT

(D) KOPT

(B)

(D)

(B)
(D) FH

[B]

[B]

[B]

[D]

[D]

(B]

37. faft Gfdargi HAI T
(A) fagH

42.

(C) HAt

(E)

38. qe-

b. daid yodl ŽI

C.

Ra UN

q-I gAfea f

qt-1 (arR)

(A) a-IV, b-II, c-I, d-III

(B)a-IV, b-III, c-II, d-[
(C) a-III, b-IV, c-I, d-II
(D) a-II, b-l, c-I, d-IV
(E) Hgafka UA

(E) 341ifa IA

(A) hyTH ISR
(C) HHE - t
(E)3tfa uA

(A) 397 2021
(C) J 2021
(E) 47fa HA

(A) tge
(C) dtart

(B) Ta
(D) sf

(E) 44fa HA

II. TrUrf fhr

IV. Hha fuT

(B) TG -
hH

(D) rft taR

(B) 4$ 2021
(D) Há 2021

(B) 344YR

(D) 4g?

[D]

[B]

(AJ

[B]

[C]

[A]

check

https://www.sarkarijobportal.org


48.

49.

(C) Vrty f
(E) 4q1Ra IA

(A)HIeftT
(C) artr
(E) 4iRd VA

(A) yslq
(C) TRTA yfsAI
(E) 4rRa wN

(A) teft hifa
(C) Hh< Gaifa

(E) 3qrkd HA

(A) Tgufa
(C) ynt
(E) 34qdfRd uA

(A) jeck

(E) 4Ra UA

(A) GrUy
(C) AIIIs
(E) 4tRd gA

50. "AT

(D) HTY qt

(B) HT63

(E) 4grkd HA

(D) Mrs

(B) ZIVRTH GHt
(D)

(C)a aateh (D) te

GTRU

(B) teft afa
(D)sa Gatfa

(B) JRTguft
(D) TTH

(B) HIy16
(D)T

IG R uftutsrT" Aafafea

[A]

[B]

[CI

[D]

[AJ

[B)

[B]

(E) 37tRa uN

57.

(A) 345UTTG fBHy
(B) fHTA 3AR JTRRGs fA
(C) hRR fRHI
(D) ffm sÌr fAfhH fBHTGY

(E)HjtRa UA

faaeg:)

(B) 3/UTTT fSHI

(A) 73a
(C) 75
(E) 3qrfd 9A

(A) HHAAI

(C) ga
(E) 3fRd yN

(B) 74a
(D) 72a

g)

56. fArfafaaÀà
a rz 42 ifarr ya

(B) 3GSI

(A]

(D) 4AI

[A]

[C]

[AJ

[AJ

[B]
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58.

60.

(C) YTqu I

(E)3grfta wA

(B) ARA y HAHya, HHqIt.

(D) "z4 HTRA T."
(E) 44Ra UN

(A)HTAIUI TT
(E) 3qtRa 9A

(A) TUT

(D) Hf

(A) HTtt
(C) •fteft

(E) 347Ra wA

(A)tch ita
(C) AI4a

(A) TTT f
(C) ŽaRyUj sft

(E) 3qtRa uA

(A) t
(C)ftasttr
(E)HgRa uA

(B) TGHR HAA
(D) 8qH rt

(A) 11 3GR 2022
(C) 19 R 2023
(E) 44Rd 9g

(E) 47afA IA

(8) 313t
(D) arst

62. fafout, eR, a R fGR NRTH

(B) t TA
(D) tC

(B) 41g Gt
(D) ZTH24 t

(B) FIG
(D) hRr-HMG

[AJ

(B) 15 4daR
(D) 12 &iqr

[D]

[AJ

[A]

[B]

[A]

[AJ

[D]

[AJ

66.

68.

(A) arcttcA I

(B) sHf staa faar
(C)a-t ufkada T-TI

(A) Yatt
(C) Hste
(E) 3fRa AN

(A) hHR: 90°, 0°

(C) H49T: 0°, 0°

uRAIA(E)

Mhite
light

bcam

(E) 3qafA UA

70. ye

(A) P.q
(C) PJ
(E) gifA IA

(A) 16:49
(C) 2:1

P

(E) rgaka 9A

(E) 44fkd yA

(B) ftT
(D) #ar

(B) hHRT: 0°, 90°
(D)h42T: 90°, 90°

P

A

1

(B) (Pq)²
(D) p.q

R HTYR t fagi A str B, Gt

(B) 64:343

Scrcen

(D) 4:7

(B]

[A]

[C]

(B]

[AJ

[D]
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75.

76.

77.

78.

79.

(A) TRH-sRH
(B) G1GI-HU YZ1, 3R MT
(C) HH- 3H4
(D)ifr-fc, R
(E) 3rqRa IA

(B) UUU thftyefAHà fy etEA HKAI

(D) tsta feute (ac) sta i
(E) 44dRA VN

(A)AISef
(C) qri
(E) 4tRa uA

(A)t fGIST
H
GHÍS(C)

(E) gefta HN

(C) chae qU 3 sli

(E) quRa HA

3ARYIÁt, HHIGI :
(C) 3133TufrcRU

(B) yst-7

(E)37fRa HA

(D)R

(A) 3tUa (HtR) (B) 1a>RH

(B) gftRrH ZhR
(D) Geie thIH

(D) aaR (9GI)

[B]

[AJ

(D]

(B]

(B]

[AJ

[D]

d se NaCi fayA HI fayd-qYCT 20 fMt

80.

81.

82.

83

84.

85.

86.

87.

(A) 28.95 x 104 s

(C) 38.6x 10 s

(E) qfk 1A

(C) 4AT

(A) agu
(C) AfA
(E) gfta wA

(A) 31-G- aIHq
(C) aryeGI-F11
(E) 3grftd HH

(A) gury
(C) qfa
(E) 3qtfRd gN

(B) 19.3 x 10s
(D) 9.65 x 10 s

(B) gÉ
(D) <M

(B) 4ft
(D) faRU

(B) THT - HEr
(D) 311 - HIG

Choose the most appropriate
translation of the given sentence

(B) d

(A) The book was torn by Rudra why?

Do you know

(D) afA

(B) Why tear the book, Rudra?
(C) Why did Rudra tear the book?
(D)Why the book was torn by Rudra?
(E) Question not attempted

(C) vague and precise
(D) as long as possible

(A) anyone, nowhere, nothing
(B) anybody, somewhere, nowhere
(C) nobody, anywhere, something
(D) someone, X, Somewhere
(E)Question not attempted

Choose the most gppropriate option to fill in
the blanks:

in London? Yes, my
friend Arun lives near London. But in
case he is out of town, I will have
go.

(A)stretched and relevant
(B)brief, clear and relevant

[C]

[AJ

(D]

(E) Question not attempted
Choose the most appropriate
complete the given sentence:

Iwas advised not to loiter
after sunset.

[A]

[D]

English

[C]

Choose the most appropriate option to
complete the sentence. In an official letter
the 'subject' is

to

[B]

[B]

word to

the streets

check
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88.

89.

90.

91.

92.

93.

94.

(A)for
(C) to
(E) Question not attempted
Match List-I with List-II

List-I
a. Munich is a large city
the south of Germany.

b. Were there many people
the concert on Friday?

c. We shouldn't speak
eating.
d. We didn't speak
meal.

(A) obedience
(C) alienation

(A)offensive

Choose the most appropriate answer from the
options given below:
(A) a-II, b-IV, c-III, d-I
(C) a-IV, b-II, c-II,d-I

(E)Question not attempted

(C) abandon

(B) with
(D) about

(E) Question not attempted

(A)510

Choose the word closest in meaning to the
underlined word:

(C) 450°

People thronged to pay homage to the
departed leader.

(A)MOCQELI

(E) Question not attempted

(C) MOCPELI
(E) 3guRa NA

(A) 1

(C) 2

S=1+

Choose the word which is similar in meaning
to RELINQUISH

(E) 34tfk uA

(B) tribute

1

the

(D) humility

(B) a-I, b-II, c-III, d-IV
(D) a-lIl. b-l, c-IV, d-I|

(B) persist
(D) residue

(B) 480

(D) 375°
(E) 3fR HN [AJ

yf'MEDICAL' H gaals YI9T DEMILAC' fa

(B) OMCPILE

I. at

(D) MOCPELO

1

List-II

II. during

III. in

(B)3

(D]

(D)

IV. while

1

1+2 1+2+3 1+2+3+4

[D]

(B]

[C]

[C]

(C]

95.

96.

97.

98.

99.

(A) 1:4
(C) 18:25
(E) 3qrtfRa UA

(A)65%
(C) 80%

(A) H4tg
(C) Hagf
(E) 3qtfRd gA

(A) 6, 3 ShTS

[C]

fagA (13, 18), B (-5, 10), C (-13, -8) yd D (5, 0) àt

(C) 2V3 zhI
(E) 3qtfRd aA

IR

(A) 3R
(C) <faor
(E) 3rgafta IA

(A) 15
(C) 14
(E) q1fk gA

rst A, B, Cqa D t

g$fAyáB, A afauC
DTIBfa fa D Tg ?

(B) 3R-ufgH
(D) vfg4

(A) GUg
(C) gs
(E) 4tRd IA

(A) He4t
(C)HUTf
(E) qtfRA AA

(B) 4:5

(D) 2:3

(B) 72%
(D) 29%

(A) HBIHI Teft

(E) 34RA VA

(B) qrf

(D) T4d

(B) V3 zh1
(D) 6 gh1

(B) 17
(D)13

(B) ft
(D) fttaTST

(B) Tgufa

(B]

(D) HRA HyrTeftR

[AJ

H ARF
R A se

(D) IA FIGR AIIEt

[AJ

(B]

[AJ

102. fahe 2 raga, 1959 t rtt (IRAH) ÝUYdt

(D]

(B]

[B]
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103. R Hayr "heIUchTT q" T faR

(A) fete rfaart
(B) TqT
(C) 7i 3rgi

(E)3qafta VA

104. fTGUA Y (taAHaÍfaftur) ?

(E) RAIA

(A) HTH
(C) hidef

106. rHfeftaÀ
(A) fa1

(C) TgG
(E) 3rifRA WA

the blank:

(A) six months ago
(C) for sIX Months

Aditihas been working here

authorities.
(A)are declaring

107. Choose the most appropriate option to fill in

(C) declare

(B) qidT

the blanks:

(D) ft

fair-qra

the word: 'declare' to fill in the blank
The old houses in town

(B) rt

rather be
cardiologist, because
called out at night.
(A)The, a, a, x, X

(D) 441

(E)Question not attempted
108. Choose the most appropriate passive form of

(B) A, the, the, a, x

(C) The, the a, x, X

(E)Question not attempted

(D) x, a, a, a, the

(B) Six months before

(A) 22
(C) 30

(D) since six months

Rt?

(B)have been declared
(D)declared

[D]

109. Choose the most appropriate option to fill in

(E) Question not attempted

[C]

(D]

[AJ

postman's little boy said that he'd
dentists than

(B) 25

(D) 20

(C]

unsafe by the

(B]

dentist don't get

110. af HAT 24, 34, 46, 48, 2x + 1, 4x + 3, 105,

110, 114, 123 t ad hH (3TRIE HH) fegT GIdT

[C]

[B]

3A 5 q 50% qf& tt ITÌ RAT 15,000

(A) 4,800
(C) 4,965
(E) 3qdftd 1N

(A) 3Ž 1992
(C) rÔ 1994
(E) qifkA AA

(A) 2 4 qf
(C)3 5 T
(E) qtRd 9N

113. RITHYUYft 1G fafryr (TRtTRY)

(A)faty GRAT

(E) qafka u4

(A) 1800
(C) 2700
(E) 47fkd HA

(A) Ctrl + Page Up
(C)Ctrl + F6 / Tab

iRAHA(E)

114. $tts afcic (ICs) fabH GRAT Hgcr Hafda

(A) 23

(C) 27
(E) 4qak AA

(A) 47

(B) 4,900

(C) 48

(D) 4,960

(E) 34fR NN

(B) 4 5 qf
(D)3 4 at

(B) TGt 1992
(D) Gt 1994

(B)G IRIH
(D) qt RA

(B) 2300
(D) 1700

(B) 25
(D)21

[C]

(B) 46

(D) 45

[C]

(B)Ctrl + Shift + F6/Tab
(D) F6/ Shift + F6

119. P, R ST ya. R g Q afaz,Q

[C]

[B]

(B]

[C]

[AJ

(B]
HTT A stz

M, Z 5T yaiffea - H?
(A)M, P H i (B) R yd M G6I
(C)Q, Pa qI/ATABI (D) M st P R

SŽI
(E) 3gdftd 1A [AJ

check
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(E) 3gtRa IN

(C) 3izhet fB4h

(E)

(A)FS

(C) F7

fRAuA

(A) Today ( )

(C) Today @

(E) 34uR HA

(A) RGU
(C) gHra
(E)

123. Afafda t haRT ste adHT

ftdIA

(A)afs
(C) Isete
(E) 3gRa NA

(A) 4 (nfRT)
(C) ya 3q4eA
(E) fkdyA

127. yttaro:

(B) aycR B

(E) 3qaRd HA

(B) F6

(D) F4

(A)B y II

(B) Today{}
(D) Today[J

(B) h
(D) hie hoie

125. gG fafafaut fery rcaR ARI GA At

(B) steT
(D) oft st t

(B) 344A
(D) AT (hett+)

128. At Ta A, B tr C ã ztfes faTA BHRT:

A -2,8; B -2, 8, 7 3tr C - 2, 8, 2 I

(B]

[D]

(B) C ye 3reTg ŽI

[AJ

[AJ

[C]

[AJ

[AJ

[AJ

[C]

Na,SOs(aq) + BaCl,(aq) BaSO (s) + 2NaCl (aq)
(A) BaSO. (s)
(C) NaCl (aq)
(E) 4gtRd uA

130. I q-Il qAfera fay:

(farun/1ri)

b. 3q4cA

a. 3icrfhu I. gea ft

c. 3J4eT4G
d. 3ieftaRGE

(A)a-III, b-II, c-IV, d-I
(C) a-I, b-IV, c-II, d-III
(E) 471f AN

(A)

(B

(A) HGYS IEU 3IA-afAs
(B) hdlcd Ity 3UH-TRrH

(C

(D)aidiye rgtr4 3E-G-fch
(E) gtfRd

D

(uMTa)

(E) 3gtfkd NA

100

(D)

(B) BaClaq)
(D) NazSO.(aq)

IV.geagta z1

(A) Ef

2 (3iq2UT afdra + gGI AAAA)

100
X 100

(E) gtfta HA

(B) a-II, b-IV, c-I, d-III
(D) a IV, b-I, c-III, d-I1

X 100

(B) yog f fR:fty /sftfe

1 T: /3RT (E) 34tfta uA

134. ya5 afAy tau

(E) 3qftd UN

(B) IgGetfta
(D) tgt

(B) rafeai 3hf-ferH- ht
(C) f-caH TAiffer -STT

[AJ

[D]

[AJ

(D]

[C]

(B]

[D]
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136. Choose the most appropriate English word for
the given word-
(A) Seizure
(C) Abatement
(E)Question not attempted

137. Choose the most appropriate

(A) agrave

complete the following sentence:

( a sermon

An inscription on a tombstone is termed as

ERUDITE
(A)Illiterate

(C) Learned

(E) Question not attempted

(A) 3GU|
(B) f3-TTGT HRI

(D) JRIdS

(A)s. fefa

ugUT.

138. Choose the word opposite in meaning to

(B) Requlation

HT

(B) s. It qest
(C) V4. HfAHT tt

(D)Deferred

(E) guRa uN

(E)Question not attempted

(A)430
(C)460
(E)34afta ga

(A)13/6
(C) 9/5

(B) an epitaph
(D) acemetery

(E)Aqd UA

(B) Crude
(D) Boring

142. log;27 + logz79 hI HA:

(B) 440
(D) 410

[AJ

141. 2000 hfar ard fer 52% IG I 60%

word to

(B) 1/2
(D) 5/6

(B]

[AJ

[AJ

[AJ

[B]

(D]

143. à TÍ pfa PQR geF A QR, PM

z?

(A)80°
(C) 95°

(A)ferediGye
(C)teRIAT
(E) 3qtfkd q

145. yi 500 thai h ar

(A)15 fa A
(C) 45 R fe
(E) qRd wN

(A) f

()3
(E) 3qtRa wT

50

(A)Elef

() qr

147. arfg KAfg TKHf

(E) qdfkA IN

(A)4qT
(C) f6<

950

(A) BISURAft (Refe) (B) yfRTf(afàçchl)
(D) TefkaT(Gzqe)

(E) qaRa 9A

(A) a

(C) 313

148. '3fteror yA Rafu

R

M 0°

(E) 37fkd 9A

(D) 70°

(B) stefretet
(D) Žnds

Ugft a he 600 f

(B) 30 RR
(D) 10

(B) q
(D) 3

(B) 3fqrf
(D) qU

(B) ufdGAT

(D)4àcT

(B) HId
(D)

R te

[AJ

[AJ

(B]

(B]

[AJ

[D]

[C]

[AJ
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